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Calibration constant for optics runs near 3185(div=2)
Difficulties: no straight through calibrations for div=2

3/6 3/12 3/13 3/16
Div=3 Div=3 Div=4 Div=2
Straight through With target field ~ Straight through  With target field

The most closed result for div=2 calibration is 3/6 div=3
Calibration for 3/6-3/28(autogain): without subtracting pedestal



Comparation between 3/6 div=3 calibration with 3/16 div=2 harp scan data

3/16 3228 run: a bpm calibration run, with harp 05 scan result

0.4mm, -81.2mm 0.4mm, -68.1mm
0.5mm, -95.6mm (Hall A coordinate) (Hall A coordinate)
(Hall A coordinate) -0.5mm, 1.4mm -0.57mm,1.45m
-0.1mm,1.1mm (Harp 05 local coordinate) (BPM B local coord(rotated))
(BPM A local coord N
(rotated))

3228 run position calculated by
using 3/6 div=3 calibration
const

Harp 05 position before doing 3228 run



3185 run position calculated by using 3/6 div=3 calibration const

-0.84mm(x)
2.39mm (y) at target

3217 run's raster shape calculated by using 3/6 div=3 calibration const
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Analog Part

Last week

We can not see fast raster signal
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